Efficiency vs Dxy(PV)
bl

0.8]

0.6]

efficiency vs dxy(PV)

oaf--i- i

o2fi-- I

Ratio

0.

5=36-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_TToriginal

—e— DQM_mkFit_TTNEWnoMS-genMatch-CUT2
—— DQM_mkFit_TToriginal-106

[ Efficienc] —— DQM_mkFit_TTNEWMS-genMatch-CUT2

efficiency vs dxy(PV)

Ratio

2040608 1
P dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

e
T
]

efficiency vs dz(PV)
o
@
T T

o
ey
T

1
»
J

02f- e teeee bt

Ratio

930 —20 -0 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
1.

i

0.8]

efficiency vs dz(PV)

o ST S SIS N

7|3 SR S ST R

7 S| IS R

1.8

Ratio

0.95fF <+ ----- B £ CETEEPY N




	Contents
	Page 1


